AN
Total number of printed pages-8, .\ -
4 (Sem 5) FNMN

2013

FINANCIAL MANAGEMENT
Paper : 503
Full Marks : 80
Pass. Marks : 24
Time : Three hours

The figures in the margin indicate full marks
Jor the questions.

1. Give the meaning of the following terms : 10

Wﬁmﬁwmf%ﬁn:

(a) Leverage
fereiTe

(b) Pay-back period :
(C* (I J1eT) Joreey @©BIR (oliq leT

(¢) Profitability Index
SICHRIN IpIe
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(d)

Capital budgeting |

BEECISIAEIICN
(e) Watered capital
o
W) -.Capitall gearing
EGECRERIIER
'(g)} Gross Wdridng Capital
O P qmm'
(h) Dividend
ST
()  Share Valuation
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— G) Pldughing back of prc;ﬁt.
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I between Gross Working Capital
rking Capital,

I 3[ETew i 5 IR v sirefy

3. Answer the following within 150-200 words : =~
5x4=20

15051 - 2005 7 forosre Frare Tev fixy
(@) What ;re the recurring ﬁﬁance functions ?
NSNS Rrgrme Fri<aiicar & ¢

Or

. B ;
Answer the f"ollowmg questions in about 609
words : : i

@oo&/Ww%m@@mm;

/1‘ W V) T . . . . ;
. ('a). “Profit Maximisation is not the adequate
AR Dogtitdtion g Judge the efficiency of a firm™.

State the limitations of Financial
Management. :

%WWWWI

()  What is the difference between Capital

- Structure and Capitalisation ? 01 Explain the Slatement. 10
T MO o1 erafaiaaers S A1y 7 From *-Tﬁﬁwwmmq S < st TSI
Or Vﬂm’mﬁﬁ?ﬂm@”l~WW|
- Write the significance of Cost of Capital. il :: ,' Or
Inifloll %o o,
T LI &g T forat| - What is meant by Financial Management ?
(¢)  What are the jfactors .that determine th iﬁi;;:;;:tc tpaztange. pf Financi.al
needs of Working Capital ? ‘ a :
RIS AT STl & 5 Somic ﬁwﬁﬁmﬂfiﬁmﬁsw?ﬁ@w@mﬂm
fFtee 3T 2 s SRS ERCIC) s 10
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Or

I'rom the following informgtipn of Capital
Project, determine

() pay-back period

(71)  present value index. (cost of capital is
10%)

LW (R 91f ofet oot coeppem
1 1% A o1 Spp1cas e <y (e
W & 108, ;

Initial Capital Investment 12,000

S FT iy

Anniual Caslhy intlow < 2,000
T ot e IR
Life in years 8

G ey

Present valye of Re. 1| received annually
for 8 years is = 5.3349,

TV TR 8 53 51zl ey
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(d) Discuss the factors which determine the
dividend policy of a firm. : 10

TR AT sTeqien TS frdigas
THAMTTR ST 5| ‘
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